55DER

45— Lkl —7 R

A 1 2 3 4 | ez
Bz BF B4
1 3 0 o| 1
1Rk BETF B4
R BF INZ
2 4 0 2
g E =]
=i B iR
3 4 4 4| 4
B RE v
AR FER EwW
4 4 4 0 3
KH BiEF feg Ly
B 5 6 7 8 | IEfiz
TafE Hnh SN0
5 0 3 o| 1
J\K EBfeF &l
KRB HD
6 4 4 o 3
[rich:- i RHED
A IETF B4
7 4 3 o| 2
RHAD™LLY | B
INEF AT &
8 4 4 4 4
= BT =]
C 9 10 11 12 | JEfiz
B HAR BH
9 1 1 1
iR BF BH
AH B& B4
10 4 3 4| 4
R DDia B4
BN LT ri=]
11 4 4 2
=% 87 ®s
oAt foF S
12 4 2 4 3
EEP = Sl
D 13 14 15 16 | JEfiz
e Ik B30
13 4 1 4| 3
Fi 2 NI ]
WHETF e
14 2 2 41 2
ik EEF e
ZE T BH
15 4 4 4| 4
NE —#% BiR
HMA BfEF BR
16 1 0 1 1
BEE XF B

0.389

0.444

0.412

E 17 18 19 20 | MBfz
)l BEF KB

17 412 4 4| 4
FE UV 1E8
ME LOR HEA

18 4 1 4 1|4 1
H fF HEAR
AR BEE  |[#x

19 4 2 4 4 2
HHFEF B4
EL2AR BT =]

20 4 1 4 4 3
1B T &S

F 21 22 23 24 | JiEfiz
il W =]

21 4 0|2 4 4| 3
3EH FE &S
=% HF Eeid

22 4 4 4| 4
HEE T® R,
aX B SEl|

23 4 2|4 0 4 1
INEF AR L]
SH thE B4

24 4 0|4 0 4 2
BH FzF=x B4

G 25 26 27 28 | liefiz
R B3 SEl|

25 4 1|4 0 4| 2
Fart f@mF L]
Bl #03€ =

26 4 4 4| 4
EKR FDH &S
=l 1LF IER

27 414 0 4| 3
B T 3]
R mEF B4

28 4 1|4 04 0 1
IKK FEF KB

H 29 30 31 32 | Jefz
EH BE7 I

29 4 0|4 1|4 1
e ERF TR
S iFF BB

30 4 4 4| 4
Rk RREE BiR
Rix =T h8

31 414 1 4 0| 2
R Bx =]
iRt Ul B 5

32 414 0 4 3
JFHE NaF B




10

11

12

13

14

15

16

55im% AREs

E% AT (BN i
M ik BEF ( BA ) FE
KRBT ( H ) 63| @
- (8 ) P
e BE (A ) s | 40
* w7 =) G
fafE Hon (&l ) 64 @
o AR EfReF ( Bl ) 1R
PE MK ( BE ) e 43
ey ( BE ) e
SHEE (BN 01| g
B BH FSX ( BA ) LR
A mEE (wH) e
e ( =) -~
HE BRT ( 5% ) 60 =M
> BREXF ( B%) =8
HELDOR (K ) W 3
= rEMF  ( #'K) ]
WHET  (®8) 5 |
> o ey ( @8 ) =%
WA LT ( ES ) el
“ =EBF O (®8) =%
ERRE () 64 =@
" ( @) et
LR BET (2H0) o 41
ok wF ( X ) Aok
PRET (B ) 63 | 2m
B2
IRFEO LU ( BA ) et
BT (58 ) zm | 43
~ thih ( ®8 ) 151
EE EIBT (%) 63
" e ma ( 7 )

10

11

12

13

14

15

16

55i% BiRES
AR FER ( EWL ) SaA
A3 —_
KM BET ( ml ) K
SH BT (B ) 64| sz
H4 —
FEEE  ( BR) p
MR ( wB ) Az |43
G4 —_—
TR EDH (B ) o,
ARE  (=#) 61 e
B3 e
o BE ( F# ) A
hiH RF (B =5 41
C3 E—
[EI88 A= &Nl ) ey o
BE BT (T ) 51 | s
F4 —
WE T (3 ) sk
T BT (AR ) s | 4O
E4 —_
FHEIUY ( *#HE ) FTPN
M B (BE ) 61 e
D3 e
BAEE (B8 ) R
Ak BT ( ®S ) = 43
E3 E—
B ARF ( ®S ) NIt
ZEMF  ( BR) 62 | e
D4 —
It —#  ( BiR) =
WEEE (B ) e | 42
c4 —_—
MR ODE (B ) =
R DVE (@B ) 62 thid
F3 —
EHFE (BB ) 2
HEAF  (mE) s 43
G3
BATE  (EES) -
INEFBIF () 621 gy
B4 —
BERT (4 ) T
THE () pg | 4O
A4 .
BT RE (A8 ) S
K UIFH (8@ ) 60
H3 —
SZE BT ( BE )




60EDER

49— Lkl —7 R

A 1 2 3 4 | BRIz
WA BF B8
1 0 1 41 2
L FRR Bl
WK &F Erit=
2 4 2 4| 3
BRE =R Ed=
1R BT 240
3 4 4 4| 4
IR RRERSE B4
BER BT L
4 1 2 0 1
Hm HEF feg Ly
B 5 6 7 8 | IEfz
MEEHED |ERES
5 2 2 4| 2
HR B& RS
=iF T RED
6 4 3 41 3
B &F RED
Kz #85F el
7 4 4 4| 4
B E=F Erid=
A0 wigr REB
8 0 0 2 1
£ 5hF REB
C 9 10 11 12 | ez
BE RER BiR
9 4 0 4| 2
B BA Bk
B T 240
10 1 1 1
alll BAF B4
NE BDF ik
11 4 4 4
H FER I
BH BEF B8
12 3 4 4 3
EE BiE
D 13 14 15 16 | NEfiz
PuEp EZEF 240
13 3 0 4| 2
KIE I8EE El|
SR ZAEF e
14 4 4 4| 4
R /KT Erit=
Bl & IES
15 4 0 4| 3
Pl 2R3 I ER
At EAE RED
16 1 1 1 1
¥ E£8 REB

0.500

0.333

0.421

E 17 18 19 20 | MEfz
1P 8 =S

17 3 404 1|4 2
7NEE X Bl
®iEE B B4

18 4 3 4 0|4 2| 1
ENETNLOYAESY B4
28 /o BE

19 40 4 4 0| 3
i IEE x5
B TRE | #@

20 3 4|2 4|0 4 4
AAt EBF E5iE)

F 21 22 23 24 | JiEfiz
R T RED

21 4 0|4 0|4 1
=% 8 REB
EXREF =11

22 0 4 3 4|4 3
oH BT =3:
25 BT B4

23 0 44 3 4 2| 2
R B0 B4
AR FK 3=}

24 413 4|2 4 4
FOHE H#F e

G 25 26 27 28 | IBfz
5O =T B

25 4 2|3 4|4 2
(TIIAEEES B4
Hots E=FF &

26 2 4 4 0{4 of 1
FH Fit =45
KA BT BiE

27 4 3|0 4 4 3
BB =D BB
21 K7 Iz E2

28 410 4 4 4
REF ZF 3]

H 29 30 31 32 | Jiefz
I 188 RED

29 3 4|4 0|4 0| 2
=H FIH RED
Tk BN B4

30 4 3 4 1|14 3 1
R%H BHEF 240
no &++% B8

31 4 4 4| 4
& BfeF e
VH & SEl|

32 4 414 0 3
7 & =l

0.611

0.714

0.500



10

11

12

13

14

15

16

60m% ARMS

BER BF

¢ R BER
" ommer (B | as
HilEE (=) 641 anm
H2 —
SER ETH (2 ) =
B0 KT (B4 ) ao| 43
i (Ea) |
A0 =BT (=) 60 a0
" euz (wm) 2
BRMT (BN ) ax 41
< B enz CEO) |
B IEET (=N ) 02 | o
T (mm) ~
pERE  (BI) o | L
. =TI
B ER (%) 65
D1 —
TE R (R )
wEEE  (EN) D
= R WD (B )_ AT
WS ERET (B ) 63| &
> ALIF IS ( B5 )_ i
BE HEE ( BR ) g |40
© BRER (B8 )_ Vs
2R (5 ) 62 P
" EEF T8 (=P )_ FH
MG 2T ( mE ) e 0
o FHAEFHE ( 82F ) e
MBRHED (ERS) 51| wis
. HR BE (ERS )_ XH
WART (B8 ) e 1
™ o CEE) | am
ZEER (B 63
H1 —
R BET (BN )

Aats
*H
40

10

11

12

13

14

15

16

60i% BiRE
WREF ( #88) WA
A3
WEER  (®8 ) ®E
NEEFF (B ) 64 | ik
R ( @@ ) P
LA HT (B ) = | 43
G4
AE T (WS ) R
ST (@) 61 i
¥ emazr ( 5 ) Kt
B BET ( BE ) o 43
C3 ME R ( B® ) #E
WA I (@8 ) 62 | @
" ( ®B ) it
B FAE ( BE ) s | !
T ( @@ ) —
5l FE (e ) 64 P
> PIUE SRZE (R ) e
25 omD ( B#E ) 25 a1
= BOEE (X3 ) R
I BET ( ®E ) 62| gy
> FRRF ( #85) b3yl
NEBOTF (T ) e | 40
“ i e ( %) 1
EXBT  ( BR) 62 A
R, ( BE ) e
IOt EIBT ( EE ) o 40
G3 e feDH ( BiE ) e
K BT (#S ) 60 | s
" =7 ( ®B) e
FHEBT (B wa | 40
M Ak FRERZE (B4 ) %/E
WEET (B ) 62
H3
ZE AT (BN




65 DER

45— L%HmJ -7 R

A 1 2 3 4 | ez
0 Ei IR ER
1 2 3 1
RRER ERF I ES
aif kRE HEAR
2 4 4 3
WA HF HEAR
[ISRES I=4;
3 4 2 o] 2
hiE E=F B
B0 BT BR
4 4 4 4 4
Tt 5h3E i
B 5 6 7 8 | NEfiI
WE AT =
5 2 1 4| 2
FH &L =5
tbE= 87 R
6 4 1 41 3
Ky ~3F pasi:
EA Bk BE
7 4 4 4
Bl B¥ 35
IR O EE RED
8 3 3 4 1
& BF REB
C 9 10 11 12 | JEfL
A BT B
9 4 2 41 3
BB #&F BR
BIE T =]
10 1 4 ol 1
=H B =]
BI%F AETF ik
11 4 3 4| 4
K B I
MR AEF =
12 3 4 3 2
KiE FDH =
D 13 14 15 16 | JEfL
B HPF Rk
13 2 1 1
BML X1 F I
BEE BT REB
14 4 4 4| 4
AR E REB
INEREEF | B
15 4 2 2
P R S
AN NS B4
16 4 1 4 3
14 5 B4

E 17 18 19 20 | MEfz
MR O&H =
17 0 4 41 3
186 B1E =
88 TF ms
18 4 4 4| 4
=5 &S
NESRESS BiR
19 0 1 41 2
alE BEF /N
FIR AT BE
20 1 2 0 1
&7 EL BB
F 21 22 23 24 | JiEfiz
Hith TEF 18
21 0 0 2| 1
1k f6F 1£8
TR 7 BE
22 4 4 3
KH EAF BB
Faft R3E REB
23 4 2 0| 2
it BFRLF REB
tBHE Y7 BT
24 4 4 4 4
g SF e
G 25 26 27 28 | IBfz
#wx —F =S
25 2 2 o| 1
me 57 e
WTF =7 I
26 4 1 0| 2
PR EF TR
{EMB H#F H
27 4 4 4| 4
FiE EF H
palE FO04K B4
28 4 4 3 3
1B DA\>F 240
H 29 30 31 32 | Bfz
BE BTF BB
29 0 0 1
INAKRHBET | 85
ey BT El
30 4 4 4| 4
KB HF =1
121l 5L =
31 4 2 4| 3
AR DD =8
[z 1N 17aY =S
32 4 2 0 2
AfE HF el




65 AiRES 65i% BiRMES

D EeE (S ) b3l BERE  ( fEA ) i
1 Al —_— 1 A3 [
ARED ERTF (S ) fBED WABF (R A
wL A (B ) 62 | s A ET (=) 63| o5
2 H2 —_— 2 H4 JEE—
A4E BT ( ®8 ) ARED KE BF ( 8w ) WA
T BF (R4 ) w | 40 ERHBF ( BE) =m | 42
3 G2 —_— 3 G4 [
IR OEE (=) 63 L LE ET () 65 v
4 Bl B —— 4 B3 B ——
£ BF ( =& ) ML K B3IF (R ) o
BIE ABT (8 ) i 40 BT ( BR) o, 41
5C1 B —— 5 C3 —_—
BHEBX(®5) mE BEBT ( BR) -
FAT HE (T ) 60| 1= BE YT (BE ) 60| jun
6 F2 — 6 F4 —
AT BFRLF ( RED ) #14L i=g=g ( B ) yn
NI EF  ( BR ) we | 43 BB TF  ( EB ) pip | 43
7 E2 _ 7 E4 —_—
2% o ( BB ) BHL R B ( 88 ) o
WE HOF (T ) 63 w5t AR IR (BRI 61 VR
8 D1 B — 8 D3 JE—
AL Z1F (T ) e BT ( BA) o
R ABRT ( BE ) i 40 MR OEH (=& ) . 40
9 E1 —_— 9 E3 —_—
SF BT ( BE ) a7 R E ( =E ) -
INGREET (B ) 61| e HEE+F ( 5%) 61| by
10 D2 _ 10 D4 JES—
BFA i ( =% ) 27 BsE & ( =& ) AERE
A REF ((ZE ) s | 3 % AEF (T ) e
11 C2 —_ 11 ¢4 —_—
KiE FWDPH ( ZE ) 1 KE B ( Z3 ) K
it FEF (5 ) 64 B WEEBT (MBS ) 64 .
12 F1 B — 12 F3 JE—
R AT ( EE ) SN K EATF (BE ) e
BTt—F (®8) P 41 A (BA) I 41
13 G1 13 G3
By 57 ( B8 ) T 1B DYOF ( BA ) 1T
WEAT  (=E) °0 | @ RASE (BE ) ©3 |
14 B2 p——— 14 B4 JES—
EHET (=8 ) =a BHET ( ®5) iz
B ( o) e | 41 BOBT (&%) a0 | 42
15 A2 —_ 15 A4 —_—
v =T ( RE ) S TH3AE  ( #8 ) T
BEHF (85 ) o WIFT  ( =E ) 64
16 H1 B — 16 H3 JES—

ANAKRHETF ( 85 ) AR D ( ZE )




70i%DEB

4#8Y—Y 45—L%KBRJ—TR

A 1 2 3 4 | Mz
1L BT =5l
1 312 414 2
HEE a0
BES fiET I ER
2 3 4 3 4|0 4
KEF FHIF e
HE =7 =
3 4 2 3 0 3
R HEKF =5
WT BN =]
4 1 4 0|4 o 1
ES HF i
B 5 6 7 8 | IEfiz
=HH =4 =
5 61 6 3
LA WwbH =
=R LKICF B4
6 6 4 5 6 2
FR HF 240
K BF Lra=
7 6 1 5 1
it N\EE ®s
8 Bye
C 9 10 11 12 | JEfL
=8 K7 HEA
9 0|4 3|4 1
REZSHN | #6
IR HRF B8
10 0 4 1 4|2 4
SH (Fd K B4
11 3 4 1 4 2
e EHF I
S 1HF v
12 1 4 2|1 4 3
ST #Az parc

0.556

0.471

0.692

3#U—Y 65—LKEMJ—FR

D 13 14 15 16 | JEfiL
Ik &7 E74:s)
13 6 1/6 1 1
Bl ERTF |
Nt fLF IR ES
14 6 4 6 3
Tk B H I ES
RUBF I
15 6|6 4 2
BE BETF I
16 |Bye
E 17 18 19 20 | IEfz
BT X7 Iz E2
17 6 4|6 2 1
FIH EF I ES
RE BElE A
18 4 6 0 6 3
1l =HKF LA
1Pk REF B4
19 2 66 0 2
B FHF B4
20 |Bye
F 21 22 23 24 | Jigfz
FafE EF B4
21 4 0|4 2|4 o 1
HIR 5K B4
HE AT R
22 0 4 4 2|4 2
H F KBR
B FEOTF R
23 2 4|2 4 4 3
EF BXTF TR
KIR INET R
24 0 4 4 4 4
LU A5 BiE




705

BT @R (@B
1 Al
E£E 4T (@B i
HEE T ( =R = | &m
2 F2
WH AT (AR am | 43
BWT  (#B 62 %
3 Bl
A N\EFE ( #8 it
RO3F (T P 43
4 D2
=EE HET ( &1 Hf R
Pl BET ( BA 61 | mi
5 E2
B FRT (20 41
HERF  ( BA
6 C1 i
REZEHN ( BE I
BT kT ( me 42
7 E1
W\ =07 (K BT
=KRLKICF ( BH T | #0m
8 B2
SKBFE  ( BA | 42
TEBF ( %E 64 it
9 D1
Il E/RT (R HE
WS BT ( 5 - 42
10 C2
w8 =T (T Ba @R
BLEF (A 63| um
11 A2
o ( &5 42
7o E¥F ( EBH
12 F1

BHEBEN  (

10

11

12

70m% BiRE
pr=F (=®)
A3
P BETF ( =E ) HE
KRE/NGET (W) RE | 1P
F4
W g ( EE ) wm | 43
AT (S ) 64 R
D3
L RBH (S ) o
INE HZF (8@ ) 41
Cc4
SHEF3L ( BA ) #E
eS|
Bye
41
FRE EEE (WO ) 21
E3
B =AF (wo ) ST
TEER ( =E ) w.0.
B3
Wl B (=% ) o
Bye ST
43
SHHF (98 ) o
C3
ST R (e ) ST
BE RET (S ) 40
A4
K FHF (&S ) %85
Bye qzﬁ
42
BT E0F (T )
F3
TR EAT (%)




75i%DEP

45— LkmJ —7 R

A 1 2 3 4 [[[=4iva
WE HED | 'R
4 112 414 3 2
FOHA = HEA
AF EZBE | WA
1 4 0 4|0 4| 4
K& ALF I1]m]
ERETF 250
4 214 O 4 3 1
BK =T B4
AR BN |BRS
3 4|4 0|3 4 3
& BF =l
B s | 6 | 7 | 8 |mEt
FhAt YT FE
4 3(0 4|14 2 2
EEES FE
I 3HF | K8
3 4 2 414 0 3
KT ®F &
H=EF BF | B
4 04 2 1 4 1
IR BF 41
18R ERF | WO
2 4|0 4|4 1 4
I AERF | B
S
75i% ARES
EREF ( BH)
Al
BKEF (BAM ) chid
- AT ST ( FE ) it | EE
e BEE ( FE ) peE | 40
o, REE(mu ) 65 =m
I FF ( mEWw ) th
61 HEF BF (M) P 42
RF BF ( &m ) IRF =H
A BE HED ( #EXR ) 63 thF
FOHEEE (8K ) 41

Ci

EHEF (B2
B ERTF (R

80mDEP 65— IJEE) —7 I
A 1 2 3 4 | MRz
B RF | ek
6 2|6 2|6 3| 1
AT HFE | ek
A& 8% =40
2 6 6 0|l6 3| 2
THE BT | BB
B %F =
2 6|0 6 > 6| 4
BK B | @A
EAR T | BN
3 63 6|6 2 3
LR BT | e

C 9 10 11 12 | Bz
EH EF I ES
9 4 1|14 14 3| 1
¥ FKF g7 62
MHE —=F RER
10 1 4 4 0|12 4| 3
1Rk B3 HEA
K BASE SR
11 1 4(0 4 0 4| 4
S5HEIASF | HhE
KH & FELL
12 3 4(4 2|4 0 2
g1l #0F FELL
75i% BiRES
A 3HF ( K8
1 B3
KT HRF (K2 3
AP EEE IT]mi
> g = ( MHE | KT
K& LF (wA FE | 42
MH —_=7F HEA 62 %
3 C3 ( ] A
ik 8% (B &
Kk BASE Pt G 43
4 ca ( . Kk
BFEISF (e S53E HAk
5541@?%&? (wA 63| m
I AERF (AR 43
#wREBN (ERB)
6 A3
[ BF ( = )




